ECE 210 Mid-term Exam

F 2000

Name:

Honor Code:

Instructions:

KEY

= Use the space on the accompanying pages to work the problems. Do not use a
bluebook. Attach additional worksheets if necessary. Label additional sheets

with your name.

s If you wish to have partial credit awarded for any of your incorrect answers you
must write clearly and legibly. Explain your work in words, if necessary.

= Write and sign the honor code when you are finished.

= Don’t Panic. 30.337%
—_—W
Good Luck. [125V
1. [25] Find the Thevenin equivalent circuit for the following.
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2. [30] For the following circuit:
a. [10] Find Io.

b. [20] Show that the sum of the power absorbed/supplied by the circuit is 0.
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3. [15] Find Vo in the following circuit.
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4. [30] Find Vo as a function of V1, V2, and V3 in the following circuit.
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